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Aufgaben-Quickname: 7082

Aufgabe 1
Berechne.

a)4-9 =36
e)9-9 =81
i)7-9=63

Aufgabe 2
Berechne.

a) 10-8 = 80
¢) 3.9 =27
i) 8.6 =48

Aufgabe 3
Berechne.
a)4-9 =36
e)d-7=28
j)4-4=16
Aufgabe 4
Berechne.
a) 7-9 =063
e)2-9=18
i)9-4=36

Viel Erfolg]!

www.dw-aufgaben.de

b) 9-6 =54
£)9-10 = 90
)9-8="T2
b) 7-8 =56
£)2-5=10
)3-8=24
b) 8- 4 =32
f)4.2=8
b) 3.9 =27
f)4-9 =36
)9-8="T2

Arbeitsblatt
19.04.2020
Quick:
7082
)9-1=9  d)5-9=45
0)6-9=54  h)9.3=27
Tows
)7-6=42  d)10-4=40
0)9-4=36  h)5-10 =50
Togs
)6-4=24  A)2-4=8
o) 1-4= D4-6=24  1)5-4=20
Quick:
)9-9=81  d)6-9=>54
©)9-2=18 1) 9.5=145
Seite 1



